Monday 2.22 Thursday 2.25

If fix) = 6x* — 2x 4+ 7 and

g(x) = x*— 5x2, what is flx) — g(x)? By =Ty +6) =322 —y+6) =
A +2=-2x+7 F 22 —6yv+ 12

B+’ 4+ 11x2=2¢+7 G 2y* — 10y + 12

C - +11x2=2x+7 H 2}-‘; — 6y

D -+ 1124+ 2x=7 J 2y —4y—12

Tuesday 2.23

Which function is the inverse of Friday 2.26
fo)=%x—12

2m — 1)4m® —Tm — 5

-ly=3,.3
il Lﬂ_gl+2 F 31}1'2—5"!_5
2 — 1

6/ ==2r+1 Z

G 2m® + m—3
Hf'(x)=2x-3 2m — 1

H2ml—m+ 34—

J =3 -=-2 2m — |

Vg2 _2_ &
J 2m’+m—3 2m -1

Wednesday 2.24

Which expression represents

flx) + glx) + fix) if fix) =x + 3 and
glx)=x—57

2% + 4x — 6
P =2x—15
P =x—=12
x4+ 1
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